REF ID:A64009

30 Decenber 19%%

Dr. Bamel 8. Wilks !
1 Cawpbelton Circle :
Princeton, Kew Jersey '

Dear Bans

Toank you vEry much for your note of R0 Decenber. T realise that
you wrote it under a considerable handicap if you plcked up some sort
of 8 bug in Weshington, for I'm just getting over a rather 4irficult
tims with it myself.

I thought I'd have your note typed up and enclose herewith a
copy thereof. The ansver you got is off a biit, it seenms quite clear,
because of a ratner simple but unfertunate error in arithmetio. When
you miltiplied (.05)(,09)(.06)(.210){.02) you put dovn the ansver as
648%10-10 when it should have been 10-10, !

The proper correction has been made, however, and unless you
ahould vant to g0 into this with further refinement, don't hother
vith it at all. The correction, Y take 1t, would lead you to wish
to modify your statement "If the word BACON were actually found in
this search;, I would reguard it as s sijnificant event,” for the lower
1imit is now.013 inatead of 0013, Howvever, should you wish to write
wé further, why pot consider the 100,000 lines as being in the form
of & eircular scroll, so that you could consider the probability that
BACON will sppear in speces 1-5, -6, 3-7, ... up to 99,996-100,000,
99,997-1, 99,998-2, 99,999-3, and 100,000-4. In short you could
consider there being a total of 100,000 places for the word to appear
1nstead of $9,996. Of course, this latter statement cannot be strictly
true, because suppose the word BACON happens to appsar in spaces 1-5;
shen obvicusly it camnot appsar in speces £-6, 3-7, 4-8, nor 5-9. But
for sy purpokes perhaps one should disregard this excluslivity factor
and Just say that we wvill assume thers are 100,000 spaces in vhich tha
word BACON cculd mppear. It mekes the calculation a bit sasier.

Yhat happens, nov, if (1like most of the Baconians) I say that
tion of the five letters A, B, C, N, and O vill be counted

S8 an A e of the word BACOR? obvicusly, %he probebility goes
ap by & Tactor of 120, so that the chances of finding BACON or sone
\ périitation of A, B, G, N, and O are mich betier now than before. or

4 aurss 1'11 find many "BACONS" that wiy. I'11 find many more, also, if
\ I'm alloved o Juggle any permutation and combination of these five
\ lstters, such a» BA and CONj or AB, O, wnd C3 or B, AC, and X0, etc,
| Q‘tc.
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Well, don't lat »e troudble you with such speculations. What 2
ought to 4o is get out a little handbook on yrobabllity sud statistics
for Ehakespears-Bacon oryptographeral

¥ith best wishes to you for the Nev Year and with reiterated
thanks, I am,

8incerely,
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